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ﬁ A baby octopus increases its body weight by 5% each day for the first month of its life. In a safe
Ocean zoo, a baby octopus was born weighing 10 kg.

a What was its weight after
i 1day? i 2 days? i 4 days? iv 1 week?
b After how many days will the octopus first weigh over 15 kg?

e A certain type of conifer hedging increases in height by 17% each year for the first 20 years.

When | bought some of this hedging, it was all about 50 cm tall. How long will it take to grow
3 mtall?

@ The manager of a small family business offered his staff an annual

1 pay increase of 4% for every year
they stayed with the firm.

a Gareth started work at the business on a salary of £12 200). What sSIary will he be on after
4 years?

b Julie started work at the business on a salary of £9350. How m
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